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#include <stdio.h>
int main(void){
int min, max;

min=0x80000000 ;
max=0xT7fffffff;
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printf(”size of int = %d\n” ,sizeof(int));
printf(”min = %d\n” ,min);
printf(”max = %d\n” ,max);

return 0;

}
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(12.8)10 = (1.1001100110011001100 - - - x 10™), (1)
(0.5)10 = (1.0 x 107 %), (2)
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#include <stdio.h>
int main(void){
double x;
x=0.3;

printf(”%80.75f\n”

x);

return 0;

}
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z = z + 1000000y (5)
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#include <stdio.h>
int main(void){

double x, y, z;
int i;

x=1.0;
y=1le—17,

printf(”%80.75f\n” ,x);
printf(” %80.75f\n" ,y);
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Z=X;

for (i=1;i <=1000000;i++){
=y 3

}

printf(”%80.75f\n” ,z);

return 0;

}
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1. 0000000O0<fleat. k>0 0000000O0OOO0DOODOOOOODOOOOOOOOOOOO
find /usr/lib -name float.h
2. 00000000000000D0ca000O0DOODODODOO

cd JOOOOOO

J.cat 00000000000 0OO00O0O0O0O0DOOO0OOOO0OO0OOO0
cat 0O QOO0O0
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gboboboobobobooboboodbbbgrepd 0o nooonoooooobbOobDOooobboOobOonDn

grep "DBL_EPSILON" float.h

Ub0ooo0oO0OOO0ODBLEPSILOND OO
#define DBL_EPSILON 2.2204460492503131e-16
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#include <stdio.h>
int main(void){
double f;
char =xa;

f=12.8;

a=(char *)&f;

printf (?%p\t%x\n” ,a,(unsigned char)xa);

printf ("%p\t%x\n" ,a+1,(unsigned char)x(a+1));
printf (?%p\t%x\n” ,a+2,(unsigned char)x(a+2));
printf ("%p\t%x\n" ,a+3,(unsigned char)x(a+3));
printf ("%p\t%x\n” ,a+4,(unsigned char)x(a+4));
printf ("%p\t%x\n” ,a+5,(unsigned char)x(a+5));
printf (?%p\t%x\n” ,a+6,(unsigned char)*(a+6));
printf ("%p\t%x\n” ,a+7,(unsigned char)x(a+7));

printf(”%60.55f\n” ,f);

return 0;
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